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Midterm Review Modules -9 RUGGLES

1. Identify the domain and range of the 5. Complete the tabie.
retation shown in the table? o 3 R
x | Y= —-3|x+_ 1| %
X -3 -2 4 11 ' ' '
- =-3/(-3}+1| —
y 1 -1 3 6 8 3 y l( ) ‘ é
. L. U IO N . O [
D‘?"B:"Z;‘Jﬁ“‘g —
0 3
Q‘-i“lng;éf%g 1 -
Refer to the figure befow for 2-3. ' 3 - 2
I'-:lo tlmti:!g .pnii\u .
y 6. Determine whether the functions
F(x)=2x+4and g(x):j_;-:z are
vs inverses. Yes, btk ecz\u&[ X.
The figure below shows a transformation
0 of y =|x|. Refer to the figure for 7-8.
2. Write the domain and range of the C’g
function in interval notation and inequality : _"?&h LY
notation. . _ e < ¥ < + 09 N
D (— o= ,é‘\ ) : 2%
: 4
Q. —E2 Yo Y/ W
) e, &) 32 /% 1 2\ 4
3. Describe the end kehavior of the function. T i .
As xS, Y —o— "
7. Write the function that is represented on
As X = -, fj 2 4+ the graph.
. . 1
4. Find the inverse of f(x)_fé-x.+3. | fEiX‘) i } l X”‘l ' +3

FPrw = 2%-6

8. Write the domain and range of the graph.

D~ (.._m, )
. (-, 3]
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9. Solve |x +1 -2 > 6.

X 77 o X<-F

10. Solve |x - 5| -1 < 4.

O < X< 10D

11. Solve the equation —2|x — 1| +3=-3

o graphlcally -

12. Use fract:onal exponents to simplify

3/)(6—5
Y >< 3

13. Simplify 325

Lll

1
2 2

14, What is | — | simplified?
643 i
2-
-4 .6
15. Simplify 18X 4 . Write your answer
83 Ty—a

with positive exponents.

9y
>< il

Date Class
16, Which monomial has a degree of 47
A 2x°y?
B -3x*y*z!
6xyz”
D -5xy’z

17. What is the sum of
3x* +4x —4 -5y* + By and

x* -X- 13+6y2‘?
C{x +—5><+L-) -kf;) |

18.Which is the correct classification of
2x%yz +3x%y ~4xy?

A binomial with a degree of 9

trlnomlal with a degree of 4
C trinomial with a degree of 9
D monomial with a degree of 4

19. Simplify
(3x%y? +4x°

Bx2-4xX —Lx3y <

‘Use the model below for 20-23.

- 10x3y2) (X +4x ~ xsyz).

2xin

{(3x-1) in

20. Write an expression in simplest form to
represent the perimeter of the rectangle

ininches. /O X - 2

21. Find the perimeter when x = 3.
2N m.

22. Write an expression in simplest form to
represent the area of the rectangie in

inches. .
inches é'}(lﬂ‘ ZK |\/\l

23. Find the areawhen x = 3, C’]LQ v -
{
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24, What is the opposite of 2x +3y?
- 2 [~ 3 e
KoY 31,
25. What is the product of (SX—’I) and
(—2x2+3x 4)7 |
—x el ? ~1Sx+Yy
26. Whatis the product of(x + 5)(x 5)’?
X B a. ldentify the vertex. (—- 2} L( )
27. What is the product of (x - 8)’
2 /é _ i b. Identify the axis of symmetry. x -
X~ lbx +6 ¥ —
28. Whatis a pfﬁect square trinomial??’ ¢. Find the equation of the function that
Q@%) - a2+ZoJo Ho represents the parabola
- 0(‘
29. Find the products i l ()H—Z ) +L( \Lj
o (3x—4) ZX 2 Zc‘[{ _{,[é d. :)c]iceyntlfy the maximum or minimum value
b. (3X 1 3X+1 QK / ) /JM}}MUM ()‘F L( d\.‘{p "—2.
c. (2x +3x) 25 %% 2 22, 5 e. The function above is translated 2 units
d. (ab + 2)(3 —3ab+ b) é’"’z 5;‘&_ Jg left and 4 units up. Write an equation
e. —3X(X+5xy—4x2) . %-in for this parabola. B 2 ?
~2x 2= ISPy +2K y =~ XHa) +
30. The volume of the Glibe is 2x* - 2x - 40.
Find an expression for the length. ) )
32. For y =—(x+2)* +3, identify the
maximum or minimum vaiue of y.
R=2 Identify it as a maximum or minimum
Wax - B o max!\mum 0F 5 C\.—% ’Zh
- 33. The zeros of a quadratic function are -8 :
7 and -2. Find a possible vertex
2 (x?-2x-20)=20xs) "> (-5, "% ) ot 0
- 2(?(,5)( ) 34, Find the vertex and axis of symmefry of
f(x) = 4x* = 16x +1 = 0.
Verto (2’ -15)
Aes of ng%\(\r\f » X =2
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35. Use the graph of y =-x* -2x+3 to
solve 3=—x* —2x +3.

X0 K=-2

36. What are the solutions of
(2x +4)(3x~9) =07

X‘:“Z Xlg

37. The height of a ball is modeled by
fix) =—16x(x — .5), where x is the number
of seconds after the ball is hit and f(x) is
the height of the ball in meters.

e
- functio () //119%0. £2§W$%

b. How long was the ball in the air?
Justify your answer,

o S ‘5.9/;4'/\6(}3

38. Find the vertex and line of symmetry of
00 = —3x? +18x + 2 Ay

\f@r\bﬂi(&%‘)‘

a. I—mc:(nd mterpret the vert x of the

Aecs ol Symme by
39. Graphy = x*~ 4 below.

¥ =

—4

40. The height of a ball in feet is modeled

by f(x) = -16x* + 80x, which is shown below,

wher; X is the time in seconds after it is hit.

100 _j_ffff"' T | .,,.[0 —s0 . ““,(‘5 -
sof -\ | X252 7 (;g,) 39
6ol/
wlf 1Y =25
20y 12

Q2 4 6 810

a. How long is the ball in the air?

A5 second s

H

b. Find and interpret the vertex of the
graph. “the. el l/\Jit‘ rﬁuoll /OO'P{“

(2.8, /0-0‘) o 2.5 secoads

=100 +¥o(25 ) = - (104200
41. Write an equation of a quadratic function Tew
that has x- antercepts -2 and 5.
= (x-C2)(x~5)
G =(x+2(x~5)
U= yx2-3x-0
J

42, What are the zeros of the function:
FxX)=x{(x-1N+3(x-17

o = @20 (=
e Qw:’s N r-1)

VENRCLE &

(x3) CFED
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43. What is the range of the function
y=2(x- 1)? + 37 Vg_(iw-, ( { 5)

E)Q"‘> or 23

44. Solve 2(x + 1) = 18.

. 45, Factor: 25p - 49x*

(5p+7x (50T

- 46. Solye 25 - 9x - 5 = 0 by factoring
2xHYK-5) =D
IxH(=O x-S =0

XZ h"’; Xz

47. Solve: X* +8x +12 =0

X=-2 X=-6

~, 1k
’_ZJ?

(b

48, Factor; x* — 6x — 16 27y

(x+2Xx =%
(xeey xeg)

49. Solve x* - 6x = 40 by factoring.
X2 -x ~¢O >0

(K~ 10X +% )mO

X‘:(O ) X‘:»‘{

50. Which of the following will simplify to the
correct solutions of y= 2x* + 5x — 77

A ~-5+/25-56 c 54+ .J25-58
4 4

m5i\/25+56 5 5425+ 56
4 4
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